20188t A= A S A ALA

(2l : 9

A+
of AF @ of| Ak & o A A=V %
A8 | &9 A5

1.AX2 4 =& 73,947,000|  74,545,000] 13,599,280
1.uAY B2 2 Agrts) 1,500,000 1,500,000 0
’ 1. A A5 1,500,000 1,500,000 0
2,718} mALRS 72,447,000/ 73,045,000 13,599,280
’ 1. 2A DAl 7An 72,447,000]  73,045,000] 13,599,280

1.(5AF, 71829u]) Al o] 9 n] 3,517,400

1.2179] = 3,292,480

2.8k o v] = 224,920

2. (FAF, o)) nFHuAA|AAH = 10,081,880

1.91734] = 9,028,840

2.3 &g = 1,053,040
2. AR /AR H 2 126,722,000 127,827,000 25,423,660
.94 #e 24,874,000/ 24,874,000 0
‘ 1.3 w32 ¢9 24,874,000/ 24,874,000 0
2. 771 #e 15,229,000, 15,229,000 2,104,830
‘ 1.3 A 1 7 Qb7 e 8,395,000 8,395,000 1,158,350

1.278289 = 601,880

1.8 39 9| = 601,880

2. A AL AA} = 110,360

1.8 39 9| = 110,360

3.8 A A A B EE A A} = 28,410

1.3838-9n) = 28,410

4.(Fa) A FAAA N =9 417,700

1.8t 8o n = 417,700
2.3t w34 9 A e 6,834,000 6,834,000 946,480

1.9 =537 = 796,480

1.8t n = 796,480

2.0 7 = 150,000
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20188t A= A S A ALA
(2l : 9
AL
of Ak o4 of| Ak & o A A=V %
A8 | &9 A 5
1.8 = 150,000
3. AFAR} i 0 1,105,000 0
’ 1.9 58w s E 0] 2] 9] 0 1,105,000 0
4.5 A5 86,619,000/ 86,619,000 23,318,830
’ 1. AKEA]$-A 43,700,000/ 43,700,000 3,413,630
1.(5AF) st gt = 282,000
1.8k &9 ) = 282,000
2.(FAH ZEEA4A = 527,700
1.8 w9 = 527,700
3. (BN 2 H) = 1,928,830
1.91714] = 59,040
2.8 £ = 1,869,790
4. (A9D=) ot = = 615,100
1.8 w9 9N = 615,100
5.(FAD) aHE2 M2 9xrd Ad sl <66)6de
1.3t a8 | = 60,000
2.3 EA 8- 42,919,000/ 42,919,000 19,905,200
(FA) nLZA -5 = 19,905,200
1.8t g = 19,905,200
37184 A&8s 58,840,000/ 58,840,000 7,057,520
1.y g5 33,121,000/ 33,121,000 3,520,820
1. 3}gs A9 3,910,000 3,910,000 850,360
1712384 % = 390,360
1.3+ <1 = 390,360
2.(ZAL) £33 wAL o) = 460,000
1.0 H| = 460,000
2. A3 wgHE 520,000 520,000 0
3. 48t EE 3,660,000 3,660,000 796,960
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20188t A= A S A ALA
(2l : 9
A+
of Ak 4 of| Ak & o A2k
e A5
= 289,000
= 289,000
= 507,960
= 507,960
4 AG R EE 9,790,000 9,790,000 1,773,500
= 93,500
= 93,500
= 1,680,000
= 1,680,000
5.9 & n3ds 13,700,000, 13,700,000 100,000
= 100,000
= 100,000
6. 5Tt ds 1,541,000 1,541,000 0
2. %393 APLE 25,719,000/ 25,719,000 3,536,700
1.4&8% 3,700,000 3,700,000 2,250,000
qFeq = 2,250,000
1.8+ = 2,250,000
2. AT HEEF 17,820,000{ 17,820,000 0
3. 5ot s 300,000 300,000 0
4. 5A S 1,084,000 1,084,000 599,700
= 599,700
= 599,700
5. 70785 2,815,000 2,815,000 687,000
= 687,000
= 687,000
A ASgE 29,082,000/ 69,082,000 5,532,140
1gsstn 49 6,600,000 6,600,000 0
1.%-8h 8- 6,600,000 6,600,000 0
3 2018-05-15




201831 A = M| & AHA

A+
of AF @ of| Ak & o A A=V %
A5
19,887,000/ 19,887,000 5,532,140
%3 19,887,000, 19,887,000 5,532,140
1.9 58 = 1,238,000
1.8t 990 = 1,238,000
2.(FADH E&FAE2L 1] = 4,186,140
1.91714] = 4,186,140
3.(x1) AxAdAFs] Frhds FHM8,000
1.3t a8 | = 108,000
2,595,000 42,595,000 0
G523 2,595,000 42,595,000 0
178,473,000 178,473,000/ 53,091,900
5 7,520,000 7,520,000 1,726,580
A D 7,520,000 7,520,000 1,726,580
TR R DA = 1,726,580
1.8t | = 1,726,580
5 65,900,000/ 65,900,000 8,265,950
&9 65,900,000/ 65,900,000 8,265,950
1.(FAD g4 wgdded A8 A% 269,420
1.8t n| = 70,300
2. 47700 = 199,120
2.(Zx) A wSHg, FAAD= 3,041,110
1.3t < H] = 3,041,110
3.(FAD A gt #3894 Al2E F328,000
1.3 g H| = 28,000
4.(5A) g2 A9 8 8 = 1,197,550
1.e171] = 1,197,550
5.(FAL) Al A9 A9 = 757,100
1.3 g4 = 757,100
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20188t A= A S A ALA
(2l : 9
A+
of Ak o4 of| Ak & o A A=V %
6. (FAH) AL A &P = 1,500,950
1.8 w99 = 1,500,950
7.(FAD A=A F9A AdSE £9 1,391,820
1.8t 990 = 1,391,820
8. (FAH A=A A Ad = 80,000
1.8t &9 = 80,000
3. 95U 9 12,732,000, 12,732,000 2,615,200
A3 750,000 750,000 128,600
1. %5489 = 128,600
1.8t 991 = 128,600
2. QR3S 11,982,000, 11,982,000 2,486,600
1.8 uARAY = 2,381,000
1.8t &) = 2,381,000
2. B3G9 = 105,600
1.8t g9 = 105,600
%l 80,011,000/ 80,011,000 38,962,020
27470 80,011,000/ 80,011,000 38,962,020
1.7 A F 7124 F-9u] 2 =51 1B3)] 963|629
1. HF Y H = 38,962,020
12,310,000/ 12,310,000 1,522,150
1. A g 8,920,000 8,920,000 1,277,400
1.3t AR} x| B = 157,400
1.8 w9 = 157,400
2.(5AD WFEIALSARE EEH= 1,120,000
1.8 w99 = 1,120,000
Z e 3,390,000 3,390,000 244,750
1.(2AD) o7l syatm T2 = 244,750
1.8ta S g n) = 244,750
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20188t A= A S A ALA

(2l : 9

AL
of AF @ of| Ak & o A A=V %
A8 | &9 A5

Sl A nke-of 189,796,000, 195,680,000 34,148,570
1.AA v $A 122,850,000 122,850,000 24,084,560
1.8k A A ]3] 122,850,000 122,850,000/ 24,084,560

1.3 8w A A A (B S 2 803, 780

1.8 w9 = 7,803,780

2 AT R R = 1,644,690

1.8 = 1,644,690

3. A Rk v = 6,199,650

1.8k &9 ) = 5,869,650

2.9 750 = 330,000

4. 3084 7 = 3,659,840

1.8 g0 = 3,659,840

5.3 #e = 4,776,600

1.3+ 8- | = 4,776,600
2.8t Je 800,000 800,000 38,500
1.3t 39143+ d 800,000 800,000 38,500

1.3t 4329 = 38,500

1.9 500 = 38,500
3.8t 7) % 4 66,146,000/  72,030,000| 10,025,510
1.Y-A 7189 25,150,000/ 25,150,000 3,804,390

1. 08 = 1,127,820

IR RS = 1,127,820

2.8 = 2,676,570

1.e17n] = 439,240

2.8 &9 = 2,237,330
2. GA LA H L8 40,996,000/ 46,880,000 6,221,120

1 A2 ALl 74 H) = 5,099,280

1.91:4] = 4,562,180
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201831 A = M| & AHA

A+
o] 4 oY of b & A ALY AE7N 2
Al -
2.8t a3 u = 537,100
2. P AR 7] = 138,240
1.9171] = 138,240
3. (FA}, o] )3 34 &5 %] €912 (983] Boel 1
1.917H] = 983,600
208,000 208,000 0
208,000 208,000 0
1.eu]H] 208,000 208,000 0
A =34 657,068,000/ 704,655,000 138,853,070
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